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~ Algebra 1 Lme.ar' Emphasis - Mldferm Review

Evaluate the expression for the given value of the variable.

1) 15a when a=7 15(7) 105

2) 3 when c=391 iz : o
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3) X when x= = ol
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Evaluate the expression for the given value(s) of the var'lable(s)

4) 3y when y=5 -/5’187 - | /_25

5.) (4x)° when x=2 !\ L‘f/”} v 56{7-

6) (c-d) when c=10 & d=3 ( 1973/

Evaluate the expression. Use PEMDAS

7.) 33'@2 : 4 12 Y
o o
21

/
8) 2+21+ 3-6  L+1- 0 3

9) [(5e2%)+B] + 16 ((eiﬁ%)w’]e/{ i

Yz <1




Write the verbal sentence as an equation AND solve.

10.) Thirteen less than the product of 25 and a number x is 37.

L 25x-13 =T
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Simplify the expression.

11)) -16 + 13 - 3 | -
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13.) 2x( 7 - x) + 35
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Perform the indicated matrix operations, /f possible.
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Solve the equations. Show work.

16) a-(-6) = 22

=1 ™1
21) 4 §x+5) = 2x + 2
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22) x+ |51 =-3
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23.) -1-3] + 7 = 4x
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Rewrite the equations in slope intercept form.

25.) 3x - 2y = 6 1 ymmixw 3
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26.) 10x + 6y = -12 | >~L =X L
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27.) Graph the equations y=5 & x = -4 on the same graph below.

| i
e What |s‘rhe slope of the line y=5
H o |
o - =3 T 3 3 Wha‘r is _the slope of the line x=-4
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Graph the equation below using fhe shortcut P Hint:plot-the y<ihtercept ( b ) first and then
use the slope to get your other point.
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28.) y=-3x+7 .
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F:nd the x & y intercepts for the equations below.
29) 2x - y = 6 M,ETHGF? x-inf( 2 0 ) |

y-m‘r( 0. é)

30.) y =-4x + 8 x..m( /z_ o )
Hx +v =8 sﬁ
y =3 3 Y-im“gé( 0% )

Find the slope of the line passing through the points. Show work.

31) (-4,2) & (-3, -5)

'32) (3.6) & (3,-1) _LM_G*@*G”J’J

33) (6,1) & (-4.,1) m =3
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34.) Name two equa‘hons of lines that are pqral]e!
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35.) Name two equcmons of lines that are. per*pendleulﬂr* e
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36.) Name two equaﬂons of lines that are neither- pamllel nor per'pend:cular' o
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Write an equation of the line in slope-intercept form(y :mxw+b) B

A 5 ~ 4 10
37) m=-5 . b= 10 _5_4’{ th o E;w

38.) m=8 passing through (1,5) hint: find b first
\/ = X4 gf)

= Bl 4 N

39) (3,-2) & (5,4) hint: find the slope (m) first, then find the y intercept ®)
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41) What is the slope of the graph of Bx + 2y = -10
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Write the point-slope form of the equation of the line that passes through the point and has

the given slope. y-»n ~ m x- x1)
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42) m="5 : (2, 4) g V-4 = TE >¢:»~-’zj

43) m=4 : (-1.-7) v e (XE)
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Write an equation in standard form (with integer coefficients) of the line that passes through
“ the given point and has the given slope. Ax+ By =¢C

44) m=3 . (5,6-2)
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Write Tﬁe equcmon below in standard form with integer coefficients..

45.) y-= 2% 6 ?/*%X + SR )k T . o - :
3. -3 . ,:: D% 4 hfy Pl zﬂhg e ) e ‘{y = ’;LL{
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46.) Is(1,5) a solu1'|on to 3}(\: 2=5
Hiyre=s Ty o
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47.) Is (0,-2) a squ‘tion to Bx - 2 = -2y?
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48.) Is (-10,-3) a solution to -x + -3 = —13y‘>
_.6[0} -7, = 7}( 7))
le m“% = 39
49.) Zoltar the Magician has a broken m%glc hat. He is supposed to be able to pull out a
* bunny rabbit but each time he reaches in he never knows for sure what he will pull out. Inside
his magic hat he has 13 flaming swords, 5 1-gallon containers of milk, 2 rabbits, and 10 coins

for hiding behind people's ears. Q[ﬁ} SH. a5 Lot ft
A) What is the probability 'I'huf Zoi‘rar W|II reach into the hat and pull out a rabbit?

B) What is the pr'bbabili‘ry that Zoltar pulls out a gallon of milk, puts it back in embarrassment,

and then pulls out the rabbit.
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